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CHEMISTRY

PHYSICAL, INORGANIC, AND ORGANIC CHEMISTRY

NITROGEN CONTAINING COMPOUNDS

Organic Chemistry Nitrogen Containing Compounds

1. The positive carbylamine test is not given by

A. anilinie

B.2,4 — dimethyl aniline

C. N — methyl —O — methyline

D.p — methyl benzylamine

Answer: C
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https://doubtnut.app.link/MVcbJvrhfnb
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2. Which of the following compound gives secondary amine on reduction.

A. Alkyl Nitrite

B. Carbylamine

C. Alkylcyanide

D. secodary nitro compound

Answer: 2

° Watch Video Solution

3. Hinsber's reagent is used to distinguish between

A.1° and 2° amine

B.2° and 3° amine

C.1° and 3° amine


https://dl.doubtnut.com/l/_oi7pDsSW5U4j
https://dl.doubtnut.com/l/_lnuLgidUkBBD
https://dl.doubtnut.com/l/_yBihatnguus2

D. All of these

Answer: 4

° Watch Video Solution

4.The end product of the reaction,

HNO>
\

PCl
Ethyl amine S (4) =

KCN
\

(B) — (C) (O) Is,

A. Propanenitrile

B. Trethylamine

C. diethylamine

D. propylamine

Answer: 1

° Watch Video Solution



https://dl.doubtnut.com/l/_yBihatnguus2
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5.In which of the following reaction migration of alkyl group from "'C"’

to "'IN’’ terminus is not occuring

A. Pinacol-Pinacolone rearrangement

B. Curitius rearrangement

C. Lossen Rearrangement

D. Beckmann Rearrangement

Answer: 1

o Watch Video Solution

6. The R in the given reaction sequence is —

N\
Ha /P ~ 1.(‘)#)-2__’
RNH, —Z%a_, A B joym CC(\

o @(m-o‘f
A.



https://dl.doubtnut.com/l/_zZGqvZcu8AkD
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O
oY

CH,-

C.

Answer: 2

° Watch Video Solution

7.1dentify the product P formed in the given reaction sequence.

}ii H
|
</ I\ | YN\:’;H
CH, CH;

H/ Hl
WL hn


https://dl.doubtnut.com/l/_k0ej2SPpFoFr
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)

A.
B . (2) H,NNH_
@) H,NNH,
C.
] @ @rwm)
Answer: 2

o View Text Solution

8.The Cimetidine has serveral nitrogen atom in its structure. Identify the

most basic atom of given cimetidine derivative.

H H

WG G

H/ i CH, V™ cHh,


https://dl.doubtnut.com/l/_iwyd7e46xZsl
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Al

B. I

c. 1

D.V

Answer: 4

o Watch Video Solution

9. The product

of

reaction


https://dl.doubtnut.com/l/_xYFFqItWfpNm
https://dl.doubtnut.com/l/_oEp9p6wMiF1m

Answer: C

° Watch Video Solution

10. Which of the following is capable of forming a zwitter ion ?

A CeHs — OH
B. CgH,(NH,),

C. CH,OH
|
CH,OH

D. H,N — CH, — COOH

Answer: 4

[ o~


https://dl.doubtnut.com/l/_oEp9p6wMiF1m
https://dl.doubtnut.com/l/_D4fPv9CwszF2

[ W Watch Video Solution

1. p— chloroaniline and anilinium

distinguished by

A. Sandmayer reaction

B. Carbylamine reaction

C. Hinsberg's reaction

Answer: D

hydrogen

chloride can

be

o Watch Video Solution

12. In the diazotisation of anline with sodium nitrite and hydrochloride

acid, an excess of hydrochloric acid is used primarily to

A. Suppress the concentration of free aniline for coupling


https://dl.doubtnut.com/l/_D4fPv9CwszF2
https://dl.doubtnut.com/l/_Pa7FxRN9RUHM
https://dl.doubtnut.com/l/_tE02P3amui2b

B. Suppress hydrolysis of phenol

C. Ensure a stoichiometric amount of nitrous acid

D. Neutralize the base liberated

Answer: 1

o Watch Video Solution

13. Starting from propanoic acid, the following reaction were carried acid

SOCI» N Bro+ KOH
X

H
% > Z What is the compound?

A CH3 — CH2 — Br

B.CH; — CH, — NH,

@ CHrCHrC/ B

D.CHs; — CHy — CHy — NH>

Answer: 2


https://dl.doubtnut.com/l/_tE02P3amui2b
https://dl.doubtnut.com/l/_9D2I8xP6vWCb

° Watch Video Solution

14. In the reaction,

NaNO,+ HCI CuCN
> (A) ;

CeHsNH.
6Hs N2 — KON

the product (C) is
A CyH;CH,NH,
B.C¢H;COOH
C.C¢HsO0H

D. none of these

Answer: 2

° Watch Video Solution



https://dl.doubtnut.com/l/_9D2I8xP6vWCb
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15. In the given reaction product Pis :

H,C N—CH, | Br _AgoH/a _p
1 |
» CH, CH,
A.1 — Butane
B.2 — Butene

C.2 — Methylpropene

D. Ethane

Answer: 4

° Watch Video Solution



https://dl.doubtnut.com/l/_cBYD93InwIxM

NH

N

1.CH3 NaOH (excess)
2.AgOH,A

> P

16. P ( major

product ),Pis

A.

H
(K,
B.

C. Phenylethene

D. Methylene Cycloheptane

Answer: 2

o Watch Video Solution

17. Identify A, C¢ H11 N, for which the given information is availabel .

(7)Baeyer reagent - Notest  (i¢)Ph — SO2Cl — acidic compound solubl


https://dl.doubtnut.com/l/_pPPGAOnNkFoo
https://dl.doubtnut.com/l/_4K06ildpL9GW

(i7) Dissolves in aq. HC1 (iv) Optically active

Answer: 4

o Watch Video Solution

18. An optically inactive amine (A4) is methylated with excess of CH3I and
there after reacted with AgOH to form alkene (B). The alkene B after
ozonolysis gives HCHO and CH3CH>CH>CHO. A and B in the

reaction are respectively.


https://dl.doubtnut.com/l/_4K06ildpL9GW
https://dl.doubtnut.com/l/_DuBl5mqcZNKz

A. CH3 - CH2 - CH2 - NHQ & C.Hg - CH2 - CH = CH2

CHy;-CH,—- CH—-CH,-CHy, & C(CH3;—-CH,—-CH =CE
\

NH,

CHs - CHy — CHy, —CHy — NHy, & CHs—CHy; —CHy; — Cl

CH3; —-CHy, —CH, — CH—-CHs & CH3—-CH; —CH; —ClI
|

NH,

Answer: 3

o Watch Video Solution

19. The product P formed in the given reaction sequence is .

O
g 1. KOH

2. CICH,COOEL
@ ~ WeH - > *p
c” 3. H,

i



https://dl.doubtnut.com/l/_DuBl5mqcZNKz
https://dl.doubtnut.com/l/_MIE4lzA45CTr

g
m @: j—NH—CH,—COOEL
c
1]
o)

A

B.NHs — CHy — COOC5H;
0
3) NH,
@M

" _encoc

Answer: C

o Watch Video Solution

20. Identify the correct statement.

(1) Pyrrolo !/ § rsmbesicihanwﬂdha@
g )

A
B. .
N %/CHJ
A
\_// \CHa

C. Ais more basic than B


https://dl.doubtnut.com/l/_MIE4lzA45CTr
https://dl.doubtnut.com/l/_1WxC7atdga9l

N
(4) In nicotine WCH“ N, is more basicthan N,
NS

D.

Answer: 3

o Watch Video Solution

21. Which statement is incorrect.

A. Fluoro benzene can be synthesized in the laboratory from aniline by
diazotisation followed by heating with H BF}
B. Quarternary Ammonium hydroxides having S — hydrogen atom

give hlfmann elimination on pyrolysis.

_NH,

3

C. on reaction with HNQO; produces

D—CH, - OH



https://dl.doubtnut.com/l/_1WxC7atdga9l
https://dl.doubtnut.com/l/_NUBT5Ud8d9BM

D.Benzyl amine on reaction with NaNO,/HCI followed by 8 —

Naphthol in slight basic medium forms a coloured dyo.

Answer: 4

° Watch Video Solution

22. What will be the major product when 2 — Aminopropane is treated

with nitrous acid ?

A.1 — Propanol

B.2 — Propanol

C. Propene

D. Cyclopropane

Answer: 2

° Watch Video Solution



https://dl.doubtnut.com/l/_NUBT5Ud8d9BM
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23. Which of the following product (s) will be obtained when

isopropylamine is treated with sodium nitrite and hydrochloric acid ?

A CH; — CH — CH;
|

OH
B.CHy — CH = CH>

Cl

|
C.CH; — CH — CH,

D. All of these

Answer: 4

o Watch Video Solution

24. Which of the following compounds will give N5(g) on treatment with

HNO,

A CoHy — NH,
B.CyH; — NH — CHs

C.NH, — CO — NH,


https://dl.doubtnut.com/l/_D1tc7tO5fMJU
https://dl.doubtnut.com/l/_tSGoUQg1hHaJ

D.CzHs — CO — NH,

Answer: 1

o Watch Video Solution

25.Compound (z)(m. f = C;HgN), on reaction with NaNO, and conc.
HCI at O°C followed by 8 — naphthol gives orange coloured dye.

Compound () is :

0@
A



https://dl.doubtnut.com/l/_tSGoUQg1hHaJ
https://dl.doubtnut.com/l/_CBpDBQAdsDKx

NH - CHQ

3

D. All of these

Answer: B

o Watch Video Solution

26. Pyridine is less basic than triethylamine because .

A. Pyridine has aromatic character
B. Nitrogen in pyridine is sp® hybridised
C. Pyridine is a cyclic system

D. In pridine, lone pair of nitrogen is delocalised

Answer: 2

° Watch Video Solution



https://dl.doubtnut.com/l/_CBpDBQAdsDKx
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27.The reagents are

@.._@l__, (b)

Cl2/F€ HN03+H2504,A NH4HS

7

(a) (b) (¢)
\ N
. 7

4 4

(a) (b) (¢)
C HN03+H230<1 (z)C’l2/Fe . Sn/HC\l

/4

(a) (i) NaOH ) A (b)  (c)

D. All are correct.

Answer: 2

o Watch Video Solution



https://dl.doubtnut.com/l/_rYm6xtXo4m60
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28. Arrange following Amines for rate of reaction with CHCl3; + KOH ?
NH, NH, NH, N,
(P) ((®)] (m@ ) C
CH, NO, | |

AS>P>R>Q
BQ>R>P>S
CS>P>Q >R

D.S>Q>R>P

Answer: 1

o Watch Video Solution

29. Which of the following is correct order of basic strength for the given

compounds ?



https://dl.doubtnut.com/l/_1qEAPKMGEkZB
https://dl.doubtnut.com/l/_ouyxRie22Zae

({)CH; — CHy — C — NH,
I
NH

NH,
(iif)

(3) iv > ii >iii > §

AT > it > 91 > v
B.tv > 112 > 11 > 1%
Cww > > 111 > 1

D.I > i1 > v > 4%

Answer: A

(ii)CH; — C — CH;
I
NH

CH,
(V)

Ai>u>n>W

° Watch Video Solution



https://dl.doubtnut.com/l/_ouyxRie22Zae

30. Which nitrogen atom is most basic ?

3
II}IH
N . . v
NH, 5H C bﬁHz
2
A3
B.4
C.5
D.2
Answer: 1

o Watch Video Solution
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